Friday 15th January
Problem solving
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@ The Problem

Ray has 3 dogs, : |
They are called Indie, Scrappy and Indie S/C/F/O./p/p/td Bomnmnie
. lk.q kg Okg
Iudi.eaudScmmweic_)k 10kq together 2/'“3 8/k/q |/k/C3

Scrappy and Bonnie weigh 9kq together
Indie and Bonnie weigh just Skq together
What is the weight of each doqg?

Now you hanve Ahe Aists, check Ahe
Aast cAue. Which soilution morks

for aAd of the cAues?
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Problem SoAving

Make a List or a Table




image2.png
WM/t/daexsmw/k/imq,a/{/i/S/t,om/ba)O/{,em,eam?
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Siaps
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Ray has 3 dogs.

They are called Indie, Scrappy and
oA PPy

Indie and Scrappy weigh 10kq together
Scrappy and Bonnie weigh 9kq together

Indie and Bonnie weigh just Skq togethe
Makisﬂneueigkﬁofmdn dog?
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I can find solutions Ao addition and
saystematicaliny,

Immqam/i&eﬂnqmmk
AriaMing nalnes, e.q. Af Indie is kg whatl does
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Nlps
-
Ray has 3 dogs.

They are called Indie, Scra and
J ' PPy

Indie and Scrappy weigh 10kq together
Scrappy and Bonnie weigh 9kq together

Indie and Bonnie weigh just Skq together
What is the weight of each doqg?

The Problem

Stard with cAue | and he

/SA&/S/LC/I’TI/TTUO./{/L/C .

Make a tahle | Aisk 4{,0/7‘ Ahese Amwo
/d.,o,q/s. T/hz/lé make |0 /g,q ,axl/t,oqz/t)me/r

A0 Mse maumhber honds Ao 0.
Indie S,c/r,cup/p/td
Ha/q q/k/q
2/kq 8/k/q
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“w The Problem
Ray has 3 dogs.

They are called Indie, Scrappy and Now /fo,C/u/s om Ahe mexiA clue.
Bonnie. S,c/r,a/p/p/té and Bonmnie /W,e/iq)a q/k,q /t,o,q»e/t/hzzr.

Tndie and Scrappy weigh 10kg together You hanve a Aist for Scrappry alreadsy, so
make ome for Bommie.
Scrappy and Bonnie weigh 9kq together

Indie and Bonnie weigh just Skq together

What is the weight of each dog? Indie Scrappay Bonmnie
Ik.q kg Okq
2kq 8kq kg

) 0

FAniAsh Ahe AisA...





